2. A ANHA LA )

& BAAQ o Frhdol AAHRA B}, AZL, AFSF SolAq)
Exo] ALY 1L & Ve L AF 59 Fow 74 F
AL Yol T A7)

¥ X2 51(13~'17)ZF M|
£ 1,502,643 59 =¥ ¥BZ 1252207 ¥ 128,259, 69(H|=: 8.5%), MYy =7}

@ 78 71 =2 £K|E B¢

EZ2¥) & 100925 Y THEEE 84A TH149%, m s
(FH71ZH) & 281014F 9 THEEE 2347 TH3I7IA, sw £2
(2 ALD) = 2,1354F 59 THEEE 178H ¥ 3077, 1w =2
(Lztz|oh) = 3,1014= 59 *HE¥2  J5gH 77467, 1w =2

@ FZo|do|nf HEHLHH] St

(UAF S) = 26,875HF 59 TREVE 22407 7% 2,555, mUCyy| 74% =
(BE0)) #1637z Y TREES 147 TH 617, Huru| 154% 3
GI¥ALD) & 11,20971F 9 THEEZ  934H 7¥1,0317H, muchy 65% 5

(E2DE) = 11081934 °9 THE¥2 923497 72 954817, mMYrH| 43% =

® E#0|4
(F=2ALD) S 350664F 2 THERBZ 2022 32547, maoa

150,000
100,000
50,000
D A— T T T T T T i T i 1 I} -+ r 1+ Tr Tt T r _r°r T _T°r 1T T
1€ 2E 3T 4 52 62 7Z BE 9 10E11E12E Ef-_mﬂﬁla;“ Lﬂ,ﬂ"ﬂ"ﬂ"ﬂ“g@"a&"

1/71



400

300

200

100

400

300

200

100

6,000

4,000

2,000

1500

1000

500

150,000

100,000

50,000

13

23

38
43

58 _
& -
78 _
8 -
93 -
108 -
Mg -
128 -

2/71

1
28
38
42
58
108
118
12¢

18
23
e
42
SE=|
75
gg
gs
108
1M _
122 -

55




(] FYHAL(IA S, EE0]) : FgFolaoln ALYy = =7}

o 790 UEE FFE&Ho] MAstY dHFHRTG FHALT T ASFT}
A w1 A AARERE =4 YERG

X X2 5E(13~'17)7F ©H|
L xS 2,
- (AL B) & 26,87521F P THEEE 22401 ¥ 44417, muchy| 74% 5
Lz M elm 21
- (BE0) & 1637UF Y THEER 147 TR 787, Mury| 154% 3
=50]| UALS
100 6,000
a0
4,000
B0
M 2,000
20
1] ——H—.—.—F‘—.—.—.— 0 T T T T T T T T T T T !
12 28 3% 42 5 62 7Y Y 92 102 11T 122 18 28 32 42 52 62 72 32 92102112128

40

o 2|2 5(13~171)z

=9

S Al g Az, (29 7)

P¢ 54 ®@ 18 23 3@ 4y S e 7y | s 9m lom LY 128

A 27,088 2,253 1,141 1,280 1,617 1,854 2,244 2,579 | 4,502 | 4,717 2,462 1,930 1,511 1,201
oOMNE 26,85 220 1,141 1,280 1,617 1,84 2,244 2,55 | 4,441 | 4639 242 1,90 1,511 1,201
=0 163 1 0 0 0 0 0 24 61 78 0 0 0 0

3/71



Jx

[ =]
L.

© 2017 AT S

= A ADLAE 4,072 AFSE: 14.4%) =O

g ALz
- At FE 339A(AE 50%) — ™ 932 (A 929) M we
- M8 Atz 3 AIHISH ()
oI I 5H ()
2= A Ml
= — nl= =
] Ab e | SR | s
Al 4,072 1,917 597 14.7% 1,320 24.2% -
= = 0l 36 37 37 100.2% 0 0 -
A S 4,036 1,880 560 13.9% 1,320 32.7% 1
P2 A ®3 18 28 38 48 53 63 |73 |6y o9® f®@ 118 13
AFD 4,072 339 159 184 192 267 275 308 932 766 300 313 181 195
A A 597 50 27 29 30 40 45 50 92 130 52 50 12 40
MEE 14.7% 14.7% 17.0% 15.8% 15.6% 15.0% 16.4% 16.2% | 9.9% | 17.0% 17.3% 16.0% 6.6% 20.5%
At1D 36 3 0 0 0 0 0 4 17 15 0 0 0 0
2
= A 3 3 0 0 0 0 0 4 17 16 0 0 0
ol
MZE 102.8% 100.0% 0.0% 0.0% 0.0% 0.0% 0.0% 0.0% | 23.5% | 113.3% 0.0% 0.0% 0.0% 0.0%
AL 4,036 336 159 184 192 267 275 304 915 751 300 313 181 195
g!
A ARZE 560 47 27 29 30 40 45 50 88 13 36 50 12 40
MEE 13.9% 13.9% 17.0% 15.8% 15.6% 15.0% 16.4% 16.4% | 9.6% | 15.0% 12.0% 16.0% 6.6% 20.5%

4/71



< ALY

P RHE A

g At

x

% oIa

I3 24 >

- A2 TN AfndsE MS 10263 (14%) 71 =10 AYHSE F50] 101

(16%) 71 =20, Al AIYE2 CiTO0| AtnH 4Zi(AHY: 4%, 100%)2 EC}.
(E50]) AtnAds= BH0| 87(22.2%), A7 7H(194%)2 =2H ME, i+, AN,
EF, QHM= A7t 25X b

(A= 3) Alnds= ME 1,0264(254%)=2 7P &1, AtLE MTE2 TO| At
A4(AtE 4F) 100%, EF7F Al 204(MT 79F) 35% =20 Oit= Alls
4541 Mot AT 15EE AT MY E0| 333%=E =Lt

A 20| AN S
ag
M HIE AR AYE 2N HIE AY MYE 242 HIE AY AYE

83 4072 100% 597  147% 3  0.% 37  103% 4,03 100% 560  13.9%
B2 240 B ™ 2.1 22 108% 237.4 3.9
N2 1,026 = 14.0% 47 4.6% 0 0.0% 0 0.0% 1,026 25% 47 4.6%
4 39 7.0 2 5.8 3 8™ 3 100.0% 376 % 19 5.1%
= 45 1.0% 15 33.3% 0 0.0% 0 0.0% 45 1% 15 33.3%
ol 234 5.0% 31 13.2% 0 0.0% 0 0.0% 234 6% 31 13.2%
B 20 0.0% 7 35.0% 0 0.0% 0 0.0% 20 0% 7 35.0%
oA 4 0.0% 4 100.0% 0 0.0% 0 0.0% 4 0% 4 100. 0%
St 109 3.0% 8 7.3% 1 2.8% 1 100.0% 108 3% 7 6.5%
NS 10 0.0% 1 10.0% 0 0.0% 0 0.0% 10 0% 1 10.0%
=pl 388 8.0% 7 19.8% 7 19.4% 7 100.0% 381 9% 70 18.4%
2 360 8.0% 70 19.4% 5 13.9% 5 100.0% 355 9% 65 18.3%
EE 86 1.0% 44 51.2% 2 5.6% 2 100.0% 84 2% 42 50.0%
s 216 8.0% 37 17.1% 1 2.8% 1 100.0% 215 5% 36 16.7%
M= 12 5.0 29 284% 2 564 2 10006 100 2% 27 | 27.0%
dae 140 11.0% 37 26.4% 1 2.8% 1 100.0% 139 3% 36 25.9%
a5 408 9.0% 89 21.8% 4 11.1% 5 125.0% 404 10% 84 20.8%
ad 362 11.0% 46 12.7% 8 22.2% 8 100.0% 354 9% 38 10.7%
Hi= 183 9.0% 33 18.0% 2 5.6% 2 100. 0% 181 4% 31 17.1%

5/71



M

< FHA: 50| BaE =4 >

ms

M

[

= WG AE SHHGH 211068%) 7HE =i 718 611(17%), sS4 53
(14%), A= 471(11%) <= =t

o= B ota () == H= S X X=X JIEt

Bl 36 21 5 4 - - 6
HS 58% 14% 1% 17%

I
rx
w

|

|

|
N

|

|
—

|

|

|

(IR AN N
|
1
|
|

[l
Hro
N~ =T =

[N NG G S
|
|

JNG UG DI

< AL 250 AUE TYAD 24 >

©
)
e
4N
Lo
It
off
A
Hx
e}
N
N
-
)
.
o
N
N
o
£
N
N
tu
XN

=2 B QHEEF9 £d0I= SF+2 dAIFE=s =20 SFRIUF J1E
8

==
O
N
=2
N
=
;l:oa
N
=2
K —
=
=

o
il

N O R 2N =N~ | — |
= = N =
N — o= W
([ PG DG Sy B R U G G
—“ N =

— |

I |

— |

6/71



ujo

T 2,19971(54.5%), ¥} 1,54371(38.2%) = =T

ol

&k

HiCH

=)<k
a_m 1o}

=
oF)

Ok

o
H

K10 6D
r~ Iir
IK{ oK
(]
=
Ho
K0 60
0SS

63

43 2,199 1,543 51

27

0.0 0.1% 1.6%

1.1%

1.3%

1.1% 54.5% 38.2%

0.7%

0.6%  0.0%

0.8%

1,026

1,026

N=

14

10

270

75

376

il

36

45

=

199

19

20

20

K-
o

108

108

OH

10

S

"

10 299 14

16

381 13

=)

193 32

19

355

[
~0

78

84

o
K0

125

80

215

Kt

21

64

100

i)
KJ

70

45

147 224

1

404

o
&0

155

180

354

Ja
0

164

181

M=

7/71



< FLIAID: ol

ol T =4 >

oln
rde

Qe z= 7|E 14307(35.4%), BE=o] Abnr}t 1,3817A(34.2%)E =1
94—rA}57_ 397729.8%), At - 59 - £48A 5 36671(9.1%), x}gm,L
2962(7.3%), FRAIL 15900902 ERron EEel AL A
o2t QHBZFJ} 691AGINE =i 9FAlT AHB owgt
AZ 19274(48%E =4 ehd

_ 22042 CPYTn! Jug 452

N BRI T | 21 8 e
E;:?;% 4,06 2% 159 1,381 397 7 366 1,430
HI= 7.3% 3.9 34.2% 9.8% 0.2%  9.1%  35.4%
S 601 266 125 28 12 219 40 |48 & 1@ 75

HIZ BO% 19% 9% 2% 1% 16% 3% | 1% 21%  48%  19%

B 4,03 296 150 | 691 266 125 28 f2 219 40 |48 & i@ 75| 7 366 1,430
N 106 - - |- - - - - - |- - - -5 & 9%
M4 36 13 0|6 8 3 - - 19 - |1 - » 5 |- 13 1w
R 4 19 4|6 - 2 1 - - 2 |- - 4 - -
of 24 27 0| w1 1 - 2 1 |- - &8 2|- & 5
2 0 5 1 |- - - - - 4 2l - 2 1|l- - 7
S I N SR T T L S U S U I
g4 108 2 7 |- - 3 - 1 1 -|l- - 3 101 7n 3
WE 10 - - e - - - - - |- - - |- - 1
2% % 74 %4 |s& 3 e 4 - 3 8|2 1 x 3 |- 7 B
¥2 3 8 2 |e 11 2w 2 - 4 3|7 15 6 6|1 19 i
== o 0 1|7 B 1 - - - a3ls - 4 |- 5
B¢ o5 24 2 |® 3 3 5 - 1 6|1 w w2 |- 12 o
= 0 B 3 |4 8 2 - - 1 1 |- 2 o 2|- 1 p
Mg 19 7 4|2 4 1 1 3 - -|3 ® B s5|- 3
a= a4 47 o |66 8 6 8 5 2 8|8 1 1w 55| - 1@
au w4 1 5| e s 6 2 2 1 4le 15 s ow| - 19 10
ME 11 25 4|8 e 7 4 1 22 2|1 3 8 4 /|- 1w -

8/71



xr
IH

Kk

oK
w|

%

2 82 o2 0% 112 128

1811 286
K| EY W

1

-
o

T

LHo

£ sg s 7
2} |
2t 0

1g 28 38 4

OtH

XA

o
o

Kl
RO,

2t
=

jo

ofl

B
Ol AFAFT

_

o
<

K+
oK
|

e

Bl

2018.07

Zt2C =0 ol #hME(15H)

Rrr
——
=
K
=3
X
LN
o
ol
Thu
0l
X0
N
g
In
1]
3+

o 2 72T oEe =0 Mo

0| A0IAM(142)

2017.07

PRt

b

0] At1(7.10), '153 CHEE ZS=0| AIDE 2 QAK75.) g

ALARD ES HISS 62 | 2 17% 3}

2016.07

I

2015.07

FAFDL O] ‘144 366% 2ZE5l%om, 179 23}

2014.07

2|

=

o
=

H 7

[

7

o
2|

x
=

(=]

3R A SF(R )

(

O

7HE

S
T

Efct

BT

9/71

) 2E/AE (AR

[

O (gl



[ FHAAL - ol g Ak &4

o782 FAR HI, T+ T Lo
FFoR FHAL BAAT B 50w
AR b AR FEEIY wA a0
e ARG Al oF e

[e)
-
Az &

P
T

19
28
3%
4%
5E
(5|
73 -
E -
93
10
118
128

* |2 5('13~'17) = A}1Z44 35,0667 2%=292271 73 254A

O X 5E(13~'17H)Zt HE Al A= Adddd, (29 - A)

T2 4 ®Z 18 2@ 3" 4@ 58 63 | 7% sy 9@ 108 1y 129

=AML 35,086 2,922 1,904 2,017 2,762 2,898 3,390 3,371 | 3,254 | 3,315 3,394 3,487 2,845 2,429

0 20174 WAL A £

= FAA AAS 6,0657(363%W, AT AARE: 6% =oH T¥E Ao
6587419, At AFEE: 6.2%) B o= B

< A AtnHs 5 olgafef >

oIHI|IH(H) T A 5
o [0
-2 At H = Al AR ﬂagg 2 A QZ‘P% ()
=2tAlD 6,065 517 363 6.0% 4,765 78.6% 1

- 78 WM SI6ANDTY NS 68%), ARHS FUOL HULH| AYE 37t

o2 H EZ 1 28 38 428 523 68 |72 |82 92 108 1E 128

>
kJ
(=]
&)
S
(&]
w
@
~
w
»
\‘
~
O
o

522 592 599 516 583 592 596 503 403

2+

A4 M2 %3 30 28 34 3 28 20 3|3 |H R 2 B 2
N | | | |

NS 6.0 5.9% 8.3% 9.3% 6.6% 5.4% 4.9% 5.8% | 6.8% [5.1% 54% 4.5 6.6% 5.5

10/71



< X[ At AfnAs 9 olHm|sf >
- N9EEZ = FAI7|27F AFn2Mo] 1,9514(32.2%), 2 71E &1, AtLY Al A=
222 EF7t 15.8%Atn: 574, Aty 91), 40| 15.1%Atn 1727, AtY: 26%) &=
o2 =r}

a2 MNDHE HI = A ADYALE
H 6,065 100% 363 100%
Ha 357 21

N2 369 6.1% 10 2.7%
24 177 2.9% 20 11.3%
o= 185 3.1% 10 5.4%
ol 318 5.2% 26 8.2%
23 57 0.9% 9 15.8%
s 88 1.5% 4 4.5%
= 172 2.8% 26 15.1%
NES 20 0.3% 2 10.0%
a7 1,951 32.2% 95 4.9%
23 218 3.6% 17 7.8%
== 213 3.5% 14 6.6%
=Y 279 4.6% 5 1.8%
N 550 9.1% 37 6.7%
My 322 5.3% 23 7.1%
aq= 529 8.7% 42 7.9%
A 531 8.8% 14 2.6%
H= 86 1.4% 9 10.5%

11/



< B LMATD BA
o A T‘:— FAE dE 1,73471(28.6%), FAHR « 74 1,60771(26.4%)
oANM F= AraL7} ‘:‘E“ﬁ

22 wn S OOE aaz 3L =2 sen 35 wo & @2 @2 zm o

A= 6,065 1,734 500 824 37 450 30 310 122 434 141 35 783 665

HES 28.6% 8.2% 13.6% 0.6% 7.4% 0.5% 5.1% 2.0% 7.2% 2.3% 0.6% 12.9% 11.0%

Al 6,066 1,734 500 824 37 450 30 310 122 434 141 35 783 665

N= 369 56 - 70 - 17 - 18 - 14 2 9 5 178
S 177 63 7 24 - 7 2 34 4 10 9 - 13 4
= 185 4l 17 32 2 8 2 2 - 16 3 1 4 27
ks 318 149 47 34 1 13 - 3 2 8 3 1 54 3
&= 57 23 2 15 - 5 - - - 1 1 - 6 4
S 88 33 9 7 3 8 - 1 - - - - 25 2
S 172 27 19 17 5 3 - 4 4 33 9 3 48 -
N(ES 20 2 - " - - - - - - - - 5 2

I 1,951 645 207 258 6 133 7 62 8 158 48 20 335 64

23 218 41 7 35 2 10 3 27 13 16 15 - 19 30
B 213 69 1 29 1 15 - 21 - 9 3 - 38 27
g 279 50 24 30 - 32 - 17 21 20 2 1 31 51
= 550 192 38 69 6 45 9 18 10 41 4 - 76 42
) 322 93 13 48 - 45 4 23 18 15 3 - 15 45
3= 529 133 67 61 3 66 1 29 23 45 21 - 50 30
ag 531 84 14 52 8 35 2 51 19 47 18 - 55 146
M= 86 3 28 32 - 8 - - - 1 - - 4 10

12/71



< >

rdo

ERT

1x

w AX AEEEE AF - 3 3,7267(61.4%), HAFF Eold 1,578
(26.0%)% <o 2 =T

- g nd A7 S5} 32.2%(1,951) 02 A B3 AR es
7V EFALR 65.7%, A% - 33 32.2%, FAFH | 251%= VeI

- ARQeEE Jbd 2o e 2UAINT44%, 3270) 2 AUAsE
(14.8%, 297)& Aol M4 &1, AF - F2H32.2%, 1,1987)7 A
% Bo)8(25.1%, 3967)L A=} 1

=t
A ot JHQIE & 4= St S0 JIEH
e
ral IS rab IS rab HIS Fal IS rale IS ral IS

Bl 6,065 @ 100% 43 0.7% 196 3.2% | 3,726 61.4% | 1,578 26.0% 522 8.6%
Ho 357 3 12 219 93 31
N2 369 6.1% - 0.0% - 0.0% 165 4.4% 191 12.1% 13 2.5%
Ay 177 2.9% - 0.0% 2 1.0% 124 3.3% 47 3.0% 4 0.8%
= 185 3.1% - 0.0% 20 10.2% 81 2.2% 57 3.6% 27 5.2%
oI 318 5.2% - 0.0% 37 18.9% | 209 5.6% 67 4.2% 5 1.0%
= 57 0.9% - 0.0% - 0.0% 17 0.5% 31 2.0% 9 1.7%
S 88 1.5% - 0.0% 5 2.6% 73 2.0% 10 0.6% - 0.0%
St 172 2.8% 6 14.0% - 0.0% 72 1.9% 94 6.0% - 0.0%
N[ES 20 0.3% - 0.0% - 0.0% 20 0.5% - 0.0% - 0.0%
&7 1,951 | 32.2% - 0.0% 14 71% | 1,198 32.2% | 39 25.1% 343  65.7%
23 218 3.6% - 0.0% 12 6.1% 177 4.8% 6 0.4% 23 4.4%
= 213 3.5% - 0.0% 1 0.5% 179 4.8% 33 2.1% - 0.0%
- 279 4.6% 2 4.7% 15 7.7% 146 3.9% 101 6.4% 15 2.9%
da= 550 9.1% - 0.0% 8 4.1% 374 10.0% | 168  10.6% - 0.0%
ars 322 5.3% _ 0.0% 26 13.3% | 182 4.9% 83 5.3% 31 5.9%
3= 529 8.7% 3 7.0% 27 13.8% | 345 9.3% 153 9.7% i 0.2%
3 531 8.8% 32 74.4% | 29 14.8% | 357 9.6% 87 5.5% 26 5.0%
SES 86 1.4% - 0.0% - .OO% 7 .02% 54 .34% 25 4.8%

13/71



O ASAG ol% B4 - S

oF | % | &0| 1| 1|30 | = | %
o <B K| S | oF | % | ot | = | Ro
= oo w2 il =l
~N KD ] 70 E3
<E o 3 WM
Al > Ko fo OF | mr | X | %60 | Ik | < | RT| 2
S T Wﬁ;me 0| | 3
i —~ w K|or|<
= g .z 2y I
=< &0 _Aﬂ T R T ] <o
Kk = =
ey | o] &3 - =
ey e —
mr - < Ko WA u| RO o | x| =g || <l | m s ufo
T — N g J | 70| o [or | o |ar | | U0 =
I S <X 3o oo || Zo| || g L D
o < 9 22 o ~ | 3 < OF
> = 5 OWEZE = S| | MH
. d ) ol ..rA_“_ = uo W 1[0
N X 3 o B ow -7
Kol o= o &3 < N0 oF | dr|up| %7 || 30| | < | il
o ¥ o1 of ok ¢ <HIKE| |0k op| RTIOF Kol gL
R g Ko i S| H| =R A | 1
Q K oo op . ok I %0 olul|s| W AW
qa ny S 70 O ol I X o Wﬂ ol H &=
o 4 LN o, J Y = & <F _— =
of NI o1 KB i DTN
o 8r T oy M A - s
2 o __wsm_ OF AN K|S |KE[S |Ko| | = Tof
. © s T o = (O {H| Kb |70 || R0 BN K| »p =
E 0~ > I = - | = = = KO ol
2l T = = < <o S =
z R S L DN~ A s |m| || 3F|m| 1 <0
N X O n Eﬁ (T < =51 < ol ~
I g X of K K OKF KR E g ol N
5 mo W o T -
e ™M ] _ _ 10]
[ G ox nr o
g m ir o .xl_l h
& T R ~ I
K i f L4 OJ B0 KO
o 5o BOow T S
w| m Y > L= S
& 8 F <k m ur Lo
“ 5 R X Kb
s ooXoar =r ~
R T K < Bl <]
[ a
W —._._ﬂ |O-|° Q-—-_____ ﬁT— I\-I’ h’
= K W K ol
o m oo =3 = o
e g 5 3 » o o~ A4 N rd oo
U R SRR 8 o Bl B B
O @) - - O O

HOH(EatRah, =

A

Eqj

I elgd=z2
14/71

.
o

=

[©)
]

=
S

=<
=ke}

) A/ 2/

e
[¢]

O (H



O #Fd d% 78 7HE &2 AL 4

o ZupFo] AFE= 7EREH TANETL oAU X &A=
3¢ A HE9 HUE FaRI dojur] gEE g 713

* |2 54d(13~'17) & Atn S 1,009 ¥EF8471 1497, HF IIE £
2017 2AMAHA: 66 7H - 7™ 114, MEYLHH]| 57%S 7}
H#HeH
200
150 ga8?
100 - <
50 -—Qx‘—’ ’_H“’-
D T T T T T T T T
- - R -
— o m = LN [Ta ) - [en] on E : 'L'E
O x| 59('13~17d)ZF HE Al HF Agazd, (49 2)
T2 54 W"Wz¥ 18 28 3@ 48 58 6 | 7" | 8¥ 9¥ 10€ 11¥ 12¥
52 1.0 84 14 01% 4 e8 78 80 | 9% | @8 149 128 75 74

w AA AAs L0009 FE 37.9%) =
7 A

- Al B2 7AGE 3m) o 74 113 0%) TZo|A, MYUChH] 57% S7}
- Ab At Sl m|sl (M)
oI ToH (L) sl
= (o]
=2 MNIOAHZ 5 gt ﬁg_}é s QZT-% (o)
A 1,009 87 33 0 33 37.9%
e A R 18 28 3% 48 58 6% |7E |8¥ 98 108 118 129
AD 87 7 3 4 7 3 8 7 1 8 6 7 17 6
g 24 33 3 0 0 1 6 3 8 0 0 3 3 4 5
=X . . .

ANYE 37.9% 37.9% 0.0% 0.0% 14.3% 200.0% 37.5% 114.3%] 0.0% | 0.0% 50.0% 42.9% 23.5% 83.3%

15/71



HE Aadase A71% 19721.8%), A5 161(18.4%) = =41,

AT BAES A A0.0%ARTERA: 107, g 4%), 71 E 36.8%AKT

A 197, 7 TH)E =0
]

e gt A A HI = AR bI= N BuE
8l 87 100% 33 100% 37.9%
oz 5 2
Ne 1 1.1% 2 6.1% 200.0%
=4 6 6.9% 4 12, 1% 66. 7%
o= 2 2.3% 2 6.1% 100.0%
ol & 4 4.6% 2 6.1% 50. 0%
% 1 1.1% - 0.0% 0.0%
CH& 1 1.1% - 0.0% 0.0%
=2 6 6.9% 1 3.0% 16.7%
NS - 0.0% - 0.0% 0%
27 19 21.8% 7 21.% 36.8%
2 4 4.6% 5 5. 2% 125.0%
&5 2 2.3% - 0.0% 0.0%
sy 6 6.9% 3 9.1% 50. 0%
S 5 5.7% - 0.0% 0.0%
H 10 11.5% 4 12. 1% 40.0%
235 16 18.4% - 0.0% 0.0%
1S 3 3. 4% 2 6.1% 66. 7%
NES 1 1.1% 1 3.0% 100.0%

16/71




< yag

rig

AdAln WMSZtEM >

=2 o [=] b |

= WG AAE B 3SHE HFAEE 5L.7%(457), =R/ HESAM)

21.8%(197), A4/t AF4A 18.4%(167) <=o]H
A9EE B A7|=7}F 21.8%(197) 02 Fo| vhshy TE2AHLFAI7}
31.6%, SFBIEHFAIER 24.4%, T4, st AFA 125%= Alav) 2HAys)
3l ok
THro & 7E0] 184%(167) Lo 2 Eom 53| A7, SadgdeA
Ao 50.0%= 3] =tk

2 SIEIEE FHSMYTE| ZIH(SBSAD) | 4w AEA JIEt

T d= HIS A HIZS Fabs HIZS rabs HIZS A=  HIS
Al 87 100% 45 51.7% 19 21.8% 16 18.4% 7 8.0%
Ay 5 3 1 1 0

K= 1 1.1% 0 0.0% 0 0.0% 1 6.3% 0 0.0%
4t 6 6.9% 2 4. 4% 0 0.0% 1 6.3% 3 42.9%
= 2 2.3% 0 0.0% 1 5.3% 0 0.0% 1 14.3%
kS| 4 4.6% 3 6.7% 1 5.3% 0 0.0% 0 0.0%
&= 1 1.1% 1 2.2% 0 0.0% 0 0.0% 0 0.0%
PSS 1 1.1% 0 0.0% 0 0.0% 1 6.3% 0 0.0%
=Ty 6 6.9% 4 8.9% 2 10.5% 0 0.0% 0 0.0%
NS 0 0.0% 0 0.0% 0 0.0% 0 0.0% 0 0.0%
=) 19 21.8% 11 24 . 4% 6 31.6% 2 12.5% 0 0.0%
zd 4 4.6% 1 2.2% 1 5.3% 1 6.3% 1 14.3%
= 2 2.3% 2 4. 4% 0 0.0% 0 0.0% 0 0.0%
= 6 6.9% 2 4. 4% 2 10.5% 2 12.5% 0 0.0%
= 5 5.7% 4 8.9% 1 5.3% 0 0.0% 0 0.0%
de 10 11.5% 5 11.1% 4 21.1% 0 0.0% 1 14.3%
35 16 18.4% / 15.6% 0 0.0% 8 50.0% 1 14.3%
dg 3 3.4% 2 4.4% 1 5.3% 0 0.0% 0 0.0%
NES 1 1.1% 1 2.2% 0 0.0% 0 0.0% 0 0.0%
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